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S bl62701[# A EBIE YSDKIDS(R) 4 15.80
8 61121 |%E FE HRJ 4 16.04
T 18014 KX & [A&IZHJIAC 4 16.07
8] 1602|FH #HE R AZSRC 4 16.20




PNIEVIEER S

RESULT 20160515

11

4FBF 100m
s
il [EE] K £ FEAE 2 FCE% 8 | g EE| K £ FIE% F o8k
1 111301 |F&E B3} JOXEAC 4 14.89 21 1] 62/01|H5& = YSD KIDS(=R) 4 15.78
2[1605[H F E&E FAY—hrxv bt 4 14.91 2| 61910[EEFH AN FRABBEFE 4 15.80
311218 #Xx HRJ 4 15.30 3 1203|/mH —3F HEAC 4 16.00
Bl 411201+ BE WH 2=7 4 15.36 B 4] 61903| XK Wi HPCTa=T(E 4 16.01
3.3 5[2702[#3k X SyuEUHE—k 4 15.36 1105 1306|F Il BEXRER |[oontE=KSC 4 16.42
m[{_6[1121|F% {68 HRJ 4 15.38 m|[ 6 1305(&+ Fhi |[ushizKSC 4 16.45
TL1311 I E4XE ZEKSRC 4 15.40 7 13118 EF K EKSRC 4 16.69
gl 1121mmE H— HRJ 4 15.44 8 1305|=3 Fi& UVoN=KSC 4 16.69
3| 1| 1121[HZE #HZE HRJ 4 16.45 4 1 1301 (7= 1[%‘ JXEAC 4 15.64
2| 2606[/NHE BAX |[EHFE_— 4 16.45 2 1120[/ngE & E2hxxv T 4 15.88
3|61916| 78k E &8 BERE=Z O 4 16.56 3 1228[#% 7‘5)&% 10015 &5y 4 16.30
Bl 4[1104[=F @&= EESIST 4 16.66 Bl 4 1301[=% =K JXEAC 4 16.32
241 5[61903[LIEF =t HOZU21=7(R) 4 16.69 1.8 b 17013kt B4 JACRRE 4 16.38
m| 6[1200|F@E+A BX EXC1=F7 4 16.75 m[ 6 1121k AE HRJ 4 17.18
7161903|FE RIE HPZT21Z7(H) 4 17.35 7 1801|HHP EX 2124 JAC 4 17.34
12171%  FABR SKAAC 4 DNS 8 13065 ER 3K UL EKSC 4 17.47
5[ 1] 1705[%R#H H— REY T ARy S—ZX 4 16.66 6] 1| 61910|ME8 %A FABBELG) 4 17.55
2[1216[= 5E HiEAC 4 17.12 2 1301[#E H%F |2aXEAC 4 17.76
3[1701]1uR 3R JACRHE 4 17.13 3| 61916|EHE kE EERE= () 4 18.17
m| _4[1201[EE B%E WH a1=7 4 17.54 m\_4 12005854  [5E EXSa=F 4 18.24
05 bH|1228[FH #H4A 100150 &5 Y 4 17.76 17 5 1201 [fE4 K K&%Z |[RAPa=7 4 18.57
m| 6[2606|FEH %Ki EEE— 4 17.90 m|[ 6 13051k K= UoNE=KSC 4 18.63
711104|HE HE |[EXEIST 4 18.16 7 2006 [#EHE S EEIE 4 18.66
8l 1801 EHF B 7 IZHJAC 4 18.69 8] 61910[5E 4 FhmBEEG) 4 18.77
71 111301 [ UK Fhitt JXEAC 4 16.94 8] 1 1301 3%F B JOXEAC 4 16.88
21 1228|554  HEHR 10015v&5y 4 17.02 2] 2702w &= SxoEvTi—k 4 16.89
3|61916| A8 X BERE=- ) 4 17.61 3 1228[FEH 8BS 10015 &5y 4 16.91
ml 4[1104| X BIK [EESST 4 17.99 s8] 4] 61916 KE =ZA BZEE— (m) 4 17.30
1.5 5| 13056(#1A MBFi U =KSC 4 18.48 16 5 1228 JIIIJ.I EIPN 10015 &5y 4 17.46
m| 6[1301])\+  #h#i JXEAC 4 1858 m| 6] 2606/ X EEE— 4 18.30
7] 1228|#% & 10015v&5 Y 4 18.88 7 1228 9*7& et 10015 V&5 4 18.38
811228/ k. K¥E 10015 v&5 > 4 19.31 8 1228|F2% =K 10015 V&5 4 18.87
9] 111228|HIJIl &4 100150 &5y 4 16.71 10] 1 112158 Hsl HRJ 4 17.71
212702k E #E Sxvevih—+ 4 16.73 2 1301 [JEE EBEA JXEAC 4 17.74
311305|/m0 ®iE U =KSC 4 18.05 3| 61916|HE £+ EERE= () 4 18.27
Bl 4] 1228]F7E —& 10015 v&5> 4 18.57 Bl 4] 61916[&L B BERE_ () 4 18.48
1.8 51122811 FK 100150 &5 Y 4 18.70 01 5 122848 B 10015 &5y 4 19.04
m| 6[1228]2 ES 10015v&5y 4 19.06 m[ 6 1203[¥TAH ik HEAC 4 19.31
711228114 #AKREE |10015 &5~ 4 19.34 7 1228|8%T XK— 10015 0&5 Y 4 19.33
8| 1228|#MA 15 10015 &5 4 19.40
11 113013k X%& OXEAC 4 16.65 12
21270211 €& SyyeEvIr—k 4 18.12
3[61916]> TU—X [exnRs=- G0 4 18.44
B 4[2702|BAR BEX SyyeEvI—k 4 18.65
0.1] 5| 1305|#%H Z:H O =KSC 4 18.86
m| 6] 1305[z%M fmABH [05h=KSC 4 18.99
T 112171 3R HRJ 4 19.41
B[ 5| K £ s & A0 5%
111301 |&F& B3 JXEAC 4 14.89
2[1605|H L E& FAU—hrRxy bk 4 14.91
~ 11218 #H4 HRJ 4 15.30
e A[1201|he8 #hB WHS21=7 4 15.36
k 5[ 2702[#RkE =X SyveEvgsE—F 4 15.36
8 6 1121|F# HE HRJ 4 15.38
T{1311 I E&E X BFKSRC 4 15.40
8l 1121 |/"H F— HRJ 4 15.44




KBRE2[E5285% RESULT 20160515

- F—TF o F(BEELT) 100m
FLEKR
HlE|EE] K 2 FEAE 2 FC8% 8 | g EE| K £ FE% 2 o
T[ 1| 2/02 2% & SxoEvsr—F 3 17.16 20 1] 13018 B&  [JXEAC 3 17.69
2[1203|giE  F= HEAC 3 17.28 2 1602|882 dh; RAESRC 3 18.04
3[61901|:t 8 M5 RHC2=7 GO 3 17.43 3 1602|7a8F A3 SRARZESRC 3 18.20
A 4]61901[ FAR ZEK [m#22=7 G0 3 17.60 m| 4] 61910[FAH ## FHREBEFR) 3 18.42
1.1 5le1001|xXm EBF ®#HU1=7 G 3 17.83 09[ 5 1200|BEH XZX |BEXRDa=-7 3 18.69
m| 6[61901|HH Ei #HC1=7 (7)) 3 17.84 m| 6 1201 |[BXK HFF WHAS21=7 3 18.95
7116022 £F RAZESRC 3 18.01 7 1120(&% B EhxFyv S 3 19.42
8l 1200[ k8B ==& AU =7 3 18.06 12030 =72 [BEEAC 3 DNS
3| 1]1200] B4 ¥ EXYa1=7 3 18.80 4 1 1201/l <BH |[REP2Z=ZF 3 19.62
211201 [pBF  BEHB WHYa2=7 3 18.87 2] 61901[BA HBiE REC1=7 G 2 19.66
31121 B35 #5 HRJ 3 19.01 3 13118 AK HF = |XFFKSRC 2 19.71
m| 4]/1602|H EJn) R KESRC 3 19.06 m| 4 1801k = 7212 JAC 1 19.74
1.3 51201 [4H & WHY2=7 2 19.45 01 b5 1201|201  Em3E WHYa1=7 3 20.05
m| 6[1104|5F #xK EEH ST 2 19.82 m| 6 1311[= B 3ZEKSRC 2 20.54
711311 |SEE X EFKSRC 3 20.04 7 1602|IUH #BK R KESRC 3 20.97
5 1[1301]XKd ZKE4E JXEAC 2 18.98 6] 1 T2 | BA ek RAAC 2 17.26
2|61237|gIH BEZ —&EIETRF () 3 19.12 2 1121 & HRJ 2 19.46
31301 |HA &= JXEAC 2 20.35 3| 61916|=E FHA EERE= (R 2 20.32
m| 4[1301|FHF F¥ JXEAC 2 20.54 ml 4] 61237|1LE  #&k —&AeTeF () 1 21.73
1.3 5] 1201[&xk &t WKHY2=7 1 20.68 06 5| 61901[FKE EZF BT G 2 22.08
m{ 6[61903[FEH H»hA [#ecsaz7E) 2 21.00 m| 6 1311[78JI Xt 3ZEKSRC 1 22.22
612378 & ZEBATF GO 2 DNS 7 1311/ D E | XBFKSRC 3 24.38
o F—TF U BFBEELT) 100m
an‘ =
#HlE[XEES] K E3 fEAE =2 FCE% 8| E 5 K % B4 2 FC8%
1 1111215 B— HRJ 3 16.22 2] 1 1203|#% &% HBEAC 3 17.47
2| 1104 | H/E  3H# EEY ST 1 16.32 2 2702{h% FE SyyEVFE—k 3 17.66
31301 [#% % JXEAC 3 16.82 3 1203|#MtE f&#il |HREAC 3 18.09
B 4]1203[FA8 FE HEAC 3 16.86 ml 4] 61910[dkJIl  BEES FhEEBELGE) 3 18.28
0.2] 5|1120|=8E & Echxxvyv S 3 16.93 1.1 5 1801 |hiE  EH R ZHJAC 1 18.38
m| 6[1819|ILK @A flipEEY ST 3 17.15 m| 6 1203 | AKX =¥ HEAC 3 18.50
T1311 ]Ik fCEE KX EKSRC 3 17.42 7 1200[3h AR 1&KE EXCa=7 3 18.52
81 1203|Afg ¥ |BEEAC 3 1768 8] 11201l =EY |Zhx¥v T 3 1850
3| 1[1301[#1H &KX JXEAC 3 17.52 4] 1 2702|36)11 B vryvEyIy5—+ 3 16.76
2|1 1301 |37 gk OXEAC 3 17.82 2| 62701|8EE A YSD KIDS(ZR) 3 17.87
3| 1203 X HEAC 3 18.37 3| 61916k HE EERE= () 3 18.20
B 413111 E4E ZEKSRC 2 18.57 m| 4] 61901|JZH BA®EH LT G 2 18.21
32 b|1311|5HE HE |XHKSRC 2 18.74 021 5 1203| &4 @A HEAC 3 18.89
m{ 6[1104| KA FRF EEHY S J 2 19.05 m| 6 1311|EH F— R EFKSRC 3 19.09
711801 |FAH [EEE 124 JAC 2 20.16 7 1311k FE R EKSRC 2 19.62
1203[ch#tk A= [HEAC 3 DNS 8 1203kH ¥J/\ [HEAC 3 19.65
5[ 1]2702[x1 =z Sy EVIE—K 3 17.99 6 1[ 61237[/NE &3] —S&MILT&F () 2 18.0/
2| 24070 B =HRC 2 19.74 2 1203| 1L BAXRER |HEEAC 3 19.85
31121 BBt HRJ 2 20.48 3 1605[/hgx 1B FAU—hkxyk 3 20.67
ml 4[16056[/h\ B3} FAY—bxy bk 2 20.87 ml 4 2702| K1 BXR SyvEvFs—k 3 20.82
3.1 561901 |dpE kiE a7 ) 2 21.23 1.5 5| 61916[#R)II  &&t EZEE= () 3 20.95
m| 6[1301|TFH &KX JXEAC 2 21.25 m| 6 1311 & R EFKSRC 3 21.78
711120\ xH B EhxFy S 3 21.63 7] 61916|3%% f&H EBERE= (= 3 22.20
13113 F KA X FFKSRC 3 DNS
Tl 112702 | & B2k SxveUTh—F D 19.23 8
2|12702|XM@ &k Syvevgs—k 3 20.94
311311 ]%  HA ZEKSRC 2 21.31
ml 4l 1311|EX |4 X BFKSRC 1 21.70
210 5[1203|=E ¥HXx HREAC 2 21.87
m| 6[2702|XF EBE Sv B Th—F D 24.07
71 1120|488 =18 EhxFy S 2 25.08

12




PNIEVIEER S

RESULT 20160515

5FLF 4%xXx1T00mR
a ﬁﬂ
JE | No. o4~ [ No. E3ar =
e I s N I 5 £ E4 4 |FREk il R K £ g4 4~ |58
71602[%@A M0 RAE—DBA bH| | 7130511 w= UbNEKSC-5A 5| 1
71602(fHE  #EE RAE—-HA 5| 3 71305|#E8 Kk UBMEKSC-5A 5| 2

1 |71602| %W = RAE—HBA 5| 2 2| 71305|=L4 =@ UBNEKSC-5A 5| 3

71602|FkfE S E RAZE—5A 5| 4 [1.00.20 71305|%M & ubmtKSC-5A 5| 4 110147
1 1200| K48 HZE EXYaz=7 5| 1 71702{ IR HDA |RM7vTILBEA 5| 4
12001 /& EXCaz=7 5| 2 71702|=H == KMF7y FILEA 5| 1

3 | 1200|884 P53 BEXYaz=7 5| 3 4 71702|RR % RMF7y FILEA 5] 3
1200\ 4 =8 EXYa=7 5| 4 1.02.70 71702|FEk BEE KM7y FILEA 5] 2 |1.03.16
2606 | /)l 2 EEE_ 51 1 71305|8JIl #A5 UsMmME=KSC-5B 5| 3

8 2606|BH Ex REE= 5/ 2 71305|di@  #EfE VBHEKSC-5B 5| 2

5 |2606|#/%E& ENBS |REE= 5| 3 6| 71305|hE AMEWE |vesrKsc-5B 5| 4
2606|{E# 2 EEEZ 5| 4 |1.03.87 71305[/\F5 EE veh=KSC-5B 5| 1 [1.05.19
71216[/\k B FH1EAC-C 5] 1 261916|HH FFR EBERE=B ) bH| 1
712163 ERE H1EAC-C 5| 2 261916| 8% k4 EEmsE—B () 5| 4

7 [71216|hy #E F1EAC-C 5| 3 8 [ 261916|IkA VAL |Exm$=B ) 5| 3
71216\ £ 0P F1EAC-C 5| 4 [1.05.26 261916 &t HEE EERE_B ) b 2 [1.056.27
2702(4t)Il Ef& Sy EVTH b1 71228|KF8 BERYF [10015>&5>-A 5] 1
2702| =B *E/? CyvEVHHY 5| 2 71228|E8& ®#R& 10015v&5v-A 5| 2

112702(=& £67% |y EVTS b 3 2 71228()118% 5% 10015 v&5v-A 6| 3
2702(kE ETH SyoEVSS 5 4 [1.0353 7122813 &N 10015v&5>-A 5| 4 [1.04.89

2 71602(t2H Ik RAXE—bHB 5| 3 1120|Em =& Echzxxy T 5[ 3
71602| A tiE RRKE—-HB 5| 2 1120\ kP #&% Ehxxyr 5| 1

3 |71602| LA #&EF RXKE—DHB 51 1 4 11201/ =8 Ehx+y S 5| 2
71602| 5 H  EEk RAZE—5B 5/ 4 [1.07.18 1120|#AH  ®RA EohxFvy S 5| 4 10745
71228|#51  HFR 10015v&5>-B 5] 1 71228(1lLO  #@7y 10015>&5>-C 5| 1

B 71228|{E8E  E#HEZE [100015v&5v-B 5| 2 71228|aE EX 10015v&5v-C 5| 2

5 [71228|)\F &R 10015>v&5v-B 5| 3 6| 71228|/£% < 3% |10015v&5v-C 5| 3
71228| AR EH 10015 v&5>-B 5| 4 11.09.64 71228|EX IE¥E 10015v&5>-C 5| 4 [1.09.72
71301 TH =&t JXEAC-5A 5| 0
71301k A& FRAC aXEAC-5A 5| 0
71301(Kdt  £EH JXEAC-5A 5| 0
71301 5 mBEZE [axEAC-5A 5] 0 |DNS

& | No. F A [ No. FoA-

il 2 N = g2 R4 4 |58k il e K FE4A F 4~ |8
71602|%3 [T RBARE—DA 51 1 71300 %10 ¥E UbME=KSC-5A Hi 1
71602|&H =F RAKE—HA 5 2 71305(88 £k UBMEKSC-5A 51 2

1 |71602|# R  HEsk RAE—BA 5} 3 2 | 7130514 =& UBMKSC-5A 51 3
71602(fFE S E RAE—5A 5{ 4 [1.00.20 71305|%M & ubmtKSC-5A b1 4 110147
1200|K$8 HZE EXYaz=7 b5i 1 71702|=H T=E RI7w FILEA B 1
12001 /B EXCaz=7 bi 2 71702\ R BE RMF7y FILEA B 2

N | 3120084 BFE EXYaz=7 51 3 4 7T1702|RR &% RMF7y FILEA 51 3
e 1200 FhAt =8 EXCa=7 51 4 [1.02.70 71702{IUR HhDA |RM7yFILEA bt 4 [1.03.16
[ 2702[3)Il Ef& SwoEevTE—K 51 1 2606|A)II 2= FEIEZ 51 1
8 2702| =AM #&L |vvvevysr—r 512 2606(5ME fExE REIEZ 5{ 2

5 1|2702|=1B %34 |vwvvevss—r 53 6 2606|HmA EME |FHEZ— 51 3
2702k EJ svvevys—+ 51 4 [1.03.53 2606 [ffn 2= EEE_ 5{ 4 11.03.87
71228\ KP8  MERYF [10015>&5>-A Bi 1 71305(/hpg EF UbmME=KSC-5B Hi 1
71228| B WR& 10015 &5 v-A bi 2 71305|/4m  #ELE UBsMKSC-5B bi 2

7 71228\ )I18% 5% 10015v&S5>v-A 51 3 8| 71305|8J Eﬁ[iﬁ UbMKSC-5B 5§ 3
71228| LI B 10015 &5>-A 651 4 [1.04.89 71305| & mE |vsnrksc-58 51 4 [1.05.19
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KBRE2[E5285% RESULT 20160515

bHEEF 4x100mR
a ﬁﬂ
JE | No. A= [ No. S
Bl N K £ E4 4 |FREk il R K £ g4 4~ |58
7112155 H = HRJ-HA 5 1 71305 |%Emk 18 UbME=KSC-5A b5 2
71121\ lhA &% HRJ-5A 5| 2 71305|ERE =X UBn=KSGC-5A 5| 1
1 |71121|&K EK HRJ-5A 5| 3 2 | 71305|/M\I gt UBhKSC-5A 5| 3
71121[=2% 98 HRJ-5A 5| 4 |58.53 71305(% & oBmEKSC-5A 5| 4 11.00.29
1 71301|#1H $REE JIXEAC-5A 5| 1 1200|&)II JBX BERSa1=F 5| 1
71301|®IJIl  EXE JXREAC-5A 5| 2 1200|#cfa WE EXYazZ7 5| 2
3 [71301|t BE JIXEAC-5A 5| 3 4 1200 L% BEX ERXSa=F7 5| 3
71301 AF KB |2 XEAC-5A 5| 4 [1.0091 12005 BaE EAXYaz=7 5| 4 ]1.0237
121U 5=3H HRJ-5B 51 1 71217 Km = FKARAC—DHA 5] 0
78 T1121($EE EIK HRJ-5B 5| 2 T1217|\ B BitE KAAC—5A 5/ 0
5 (711212 8% HRJ-5B 5| 3 71217\ A4 ERE |&ZAKAC—5A 5| 0
711216 BRIK HRJ-5B 5| 4 [1.03.46 71217(= =P RAAC—5A 5] 0 |DNS
71104|HIR  =# EEXA ] 5 3 71228|)1178 EBR 10015 &3> b 1
71104 (A RiF X5 > JB 5| 2 712280011 #& 10015 &3> 5| 2
1 |71104)/N L 4 EEY S IB 5/ 1 2| 71228|MHE FE 10015 &3> 5| 3
71104|F8AR A EEX5 S JB 5| 4 [1.02.21 71228/ i R 10015 &5~ 5] 4 11.05.16
2 71201|BH & WHY1=—7A 5] 3 71311 s Rt ZEKSRC 5] 1
71201587k HHE WHYa2=7A 5| 1 71311 | = =Z® ZEKSRC 51 2
3 [71201|%x0 RAT WHY1=-7A 5| 4 4| 7131181l ff R EFKSRC 5| 3
71201 |46 & WHY2=7A 5| 2 ]1.05.26 71311 e &4 3T EFKSRC 5] 4 [1.05.67
261916|48M 2R3} BERE-D G 5| 1 71305(BH,ES Bs A |vsmrKksc-5C 5| 3
B 261916|¥AH  IEE BERE=D G 5| 3 71305(#H XM UBHEKSC-5C 5| 2
5 |261916|thHF BE BERE=D () bH| 4 6| 71305|ZH ®B4&E usHkKSC-5C 5| 1
261916 AR FEH BEs=D 3 5| 2 [1.056.91 71305/l FEE vbhzKSC-5C 5| 4 [1.07.73
71305|/\pg Z=Zo ubh=KSC-58 H| 0
71305|BH (EAXEF |[vsmrzksc-5B 5| 0
71305|7k:E  [EA vesH=KSC-5B 5| 0
71305/ &)1l B UbM=KSC-5B 5 0 |DNS
& | No. F A [ No. P4
il 2 N = E4 E4A 4 |58k il e K E4 FE4A Fi o4~ |8
TH21FH #& HRJ-5A 51 1 713053 EE =KX UbME=KSC-5A H| 1
721\ ILkx ¥ HRJ-HA 5| 2 71305 |/ 18 UbMEKSC-5A 5| 2
1 |71121{&K =K HRJ-5A 5| 3 2 71305/NMIl 12t ubmEKSC-5A 5| 3
71121| =2 g8 HRJ-5A 5| 4 15853 71305|% & vsnEKSC-5A 5| 4 [1.00.29
71301 (¥ 1H $REE JXEAC-5A 5| 1 71104{/NL 20 XSS JB 5| 1
71301|®iIJIl =X JAXREAC-5A 5| 2 71104 |EA  XKig BEEYSIB 5| 2
R | 3 |713013t EE JXEAC-5A 5| 3 4 | T1104|HE E=# BEESSJB 5| 3
e 71301 G kB [2XEAC-5A 5] 4 [1.00.91 71104|8AR A EEXHY 5 JB 5] 4 11.02.21
~ 1200|Z&) JB’X EXYaz=7 5| 1 71121 ILF =3 HRJ-5B 5 1
8 1200|418 WE EXCaz=7 5| 2 JARVARE:S: S -P/N HRJ-5B 51 2
5 11200|L#E EX EXYa1z=7 5| 3 6 VARVARUINY- 4 HRJ-5B 5] 3
1200| % BaE EXCa=7 5| 4 [1.0237 711215530 BK HRJ-5B 5| 4 [1.03.46
71228|)Ill8 EBR 10015>v&5> b5 1 71201{8xk HHE WHa2=7A 5| 1
71228|m0J11  #E 10015 &5y 5| 2 71201 HE/R BE WHS2=F7A 5| 2
7 (71228|EM@A FE 10015v&5> 5| 3 8| 71201|&@ 1A/ WHa2=7A 5| 3
71228|/NiE R 10015 &5~ 5| 4 11.05.16 712011&%0 RiT WHYa2=7A 5| 4 [1.05.26
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PNIEVIEER S

RESULT 20160515

6 FLF 4x100mR
R
JE | No. A= [ No. N
e I s N I £ E4 F 4 |Gk L] Ak K £ FE4 F - |58
71201|fEH H# wWHYa1=7A 6| 3 71801 |FH i RIZHJAC—A 6] 1
71201 (#3 L INE WHY21=7A 6| 4 71801 |&8H =i TIZHJAC—A 6| 2
1 (71201478 BETH WHYa2=7A 6| 1 2| 71801|KI% 2P [HIZHJAC—A 6| 4
71201|EiIH EFE WHYa2=7A 6] 2 15590 71801 |REH A RIZHJAC—A 6] 3 5598
1 261901 K  #FEE BHU2=7A G 6] |1 71305|4748 ™= UoM=KSC-A 6] 1
261001| 0 H/E BHTAZTA G 6] 2 71305128 #WE UBM=KSC-A 6| 2
3 |261901|BkFH YD #HC1=7A G 6| 3 4 | 71305|H)II —#F U5MEKSC-A 6| 3
261901 [¥AFE  FER =#r2=7A 3 bl 4 |56.88 71305|1UFH —2 UbM=KSC-A 6| 4 |57.34
71702| &I 22 RM7y TILA 5] 2 71216( &R  Fk F1BAC-A 6] 1
8 17021 E RM7YTILA 6| 4 71216(lL ™ A FEAC-A 6] 2
5 [71702| 6B B RM7y TILA 6] 1 6| 71216|%0O EM F1BAC-A 6| 3
71702(F R HE EM7y FILA 6] 3 [b741 71216|[BFE L H1EAC-A 6] 4 5759
T1104| B BRI BEESSTA 6] 1 716025k BA&TE |RKZE—6A 6] 1
71104(FAR MmBAZE |[EEXVZTA 6| 2 71602|FZE *x&% RKE—-6A 6| 3
7 [71104|#AH Bk BEYSTA 6| 3 8 | 71602|a1E EH RAE—6A 6| 2
71104\ 78R E BEES S JA 5| 4 [59.22 71602[2AX ¥= RAE—6A 61 4 15995
71305[H AT M O =KSC 6| 1 T1217 |k #&T RAAC—A 6] 2
T1305|1RE T& U5mM=KSC 6| 2 T1217|=8 2 RAAC—A 6] 3
1 |71305| N FE3E UHM=KSC 6| 3 2| 7217|588 EHie KARAC—A 6] 1
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